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1~ 3P @30 52 2 & (priori orthogonal comparisons) » # 45355 (error rate) R4
¥ = (conceptua unit) % = ? (15%)
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(15%)

e (X1) 12 14 10 7 13 12 10 9 10 8

e (X2) 8 7 12 9 5 10 11 7 9 10
ZX]_ =105 Sj_ = 2.2236 tgs(lg) 2.101
¥X,=88 S, =2.0976
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g4 A B C D E F G H I J

pER(Y) 80 70 30 40 65 40 30 15 60 35
#5 (X) 60 55 15 25 75 15 10 25 85 45

XY =465 Sy =20.96 t 058 = 2.306
2X =410 Sx =26.85

4~ 3 3 1 (40%)
(1) % - #3145 %(type error)
(2) H 71+ % £ #Ic~ 7 (one-way ANOVA )
(3) A # &4 £ 4p B (Pearson Product-Moment Correlation)
(4) i 8 32 jF~ 17 (simpleregression analysis)
(5) & ¥ -k % (level of significance)
(6) FFF <z (Si2) (Scheffe method)
(7) %12 » #7(factor anaysis)
(8) & B3 (null hypothesis)
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(9) # 2 Bk 7 2 (homogeneity of variance)
(10) 7 »&f* % w4z s
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» A £ %~ w) 5 87.8-835885° 7855 90.2 84 - (10%)
X=854;S=437; 35 £#t=225;0=.05;df =5; &t
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